Torneo del Venerdi sera - Sede ABL Lamone - 22.08.24

Board 1
MP NS Kontrakt Aussp. Ergebnis ow MP
00 6 W3¢ X = 93 470 1 40
40 2 W44 -2 93 100 4 00
20 3 O 1SA +2 &9 150 5 20
Board 3
MP NS Kontrakt Aussp. Ergebnis ow MP
10 6 N2& -1 V4 S0 1 30
40 2 N 26 = 93 110 4 00
10 3 S 26 -1 &9 50 5 30
Board 5
MP NS Kontrakt Aussp. Ergebnis OW MP
1,0 6 O 1SA = 10 90 1 30
40 2 W29 -2 #2 100 0,0
10 3 O 1SA = &3 0 5 30
Board 7
MP NS Kontrakt Aussp.  Ergebnis  OW MP
00 3 N 2& = 4¢3 110 4 40
40 6 N 3 X = WA 730 2 00
20 5 N 2o +1 WA 140 1 20
Board 9
MP NS Kontrakt Aussp. Ergebnis ow MP
40 3 O4e -1 97 100 4 00
20 6 N 29 -2 &3 100 2 20
00 5 O 26 +1 @7 140 1 40
Board 11
MP NS Kontrakt Aussp.  Ergebnis  OW MP
40 4 N 46 = H2 420 5 00
00 6 N 2o +1 96 140 3 40
20 1 N2 +2 96 170 2 20
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Board 2
NS Kontrakt Aussp.  Ergebnis OW
6 W24 -1 93 50 1
2 W26 -1 92 50 4
3 W2é -1 92 50 5
Board 4
NS Kontrakt Aussp. Ergebnis ow
6 W2SA -1 &9 100 1
2 W24 = MA 90 4
3 W3SA = &9 600 5
Board 6
NS Kontrakt Aussp.  Ergebnis  OW
3 W3 -2 &4 200 4
6 Wie +1 &9 650
5 O3SA = 45 600
Board 8
NS Kontrakt Aussp.  Ergebnis  OW
3 026 -2 47 100 4
6 N3bd -2 92 100
5 W26 -2 4D 100
Board 10
NS Kontrakt Aussp. Ergebnis ow
3 S 49 = &A 620 4
6 S 49 = ¢A 620
5 S 26 +2 &A 170 1
Board 12
NS Kontrakt Aussp.  Ergebnis  OW
4 W3 = 49 140 5
6 W26 = 96 110 3
1 W2 +1 94 140 2
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Board 13
MP NS Kontrakt Aussp. Ergebnis OW MP
20 4 S 49 -1 &6 100 5 20
20 6 S 49 -1 46 100 3 20
20 1 N 49 -1 &K 100 2 20
Board 15
MP NS Kontrakt Aussp. Ergebnis OW MP
00 4 W3s +1 <A 170 5 40
20 6 W26 +1 4A 140 3 20
40 1 W4e -2 ¢A 100 2 00
Board 17
MP NS Kontrakt Aussp. Ergebnis ow MP
20 5 N 2o +1 92 140 2 20
00 1 N2 = 93 110 3 40
40 6 N 46 = &H3 420 4 00
Board 19
MP NS Kontrakt Aussp. Ergebnis ow MP
00 5 O6% = %10 1430 2 4,0
20 1 O 49 +2 &10 680 3 20
40 6 O 49 +1 #B 650 4 00
Board 21
MP NS Kontrakt Aussp.  Ergebnis  OW MP
40 6 W49 -2 46 100 5 00
00 2 W3¥ +1 44 170 3 40
20 4 S 3¢ -1 4B 100 1 20
Board 23
MP NS Kontrakt Aussp. Ergebnis ow MP
20 6 N5¢ = @A 600 5 20
40 2 N 4 +1 WA 650 3 00
00 4 S 44 +1 WK 150 1 40
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Board 14

NS Kontrakt Aussp. Ergebnis  OW
4 S 46 +1 47 450 5
6 S 46 = &7 420 3
1 S46 = &7 420 2
Board 16
NS Kontrakt Aussp.  Ergebnis  OW
5 N29 -1 &9 50 2
1 W2SA -3 ¥4 300 3
6 S 1SA +3 €A 180 4
Board 18
NS Kontrakt Aussp. Ergebnis ow
5 N 3SA -3 &K 300 2
1 N3SA -2 &K 200 3
6 N 3SA -2 &K 200 4
Board 20
NS Kontrakt Aussp. Ergebnis  OW
5 O3SA -1 &3 100 2
1 O3SA +1 42 630 3
6 O3d = V8 110 4
Board 22
NS Kontrakt Aussp.  Ergebnis  OW
6 049 -1 %A 100 5
2 039 X +1 &2 930 3
4 S 46 -3 ¥5 150 1
Board 24
NS Kontrakt Aussp. Ergebnis ow
6 O246 = 49 110 5
2 024 -1 49 50 3
4 Ole = 46 80 1
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Board 25

NS Kontrakt Aussp. Ergebnis

6 N2SA = 94 120
2 N 1SA +2 ¥4 150
4 N 1SA -1 92
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